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public interface MylInterface {
public abstract int fool(int 1i);
int foo2(int 1i);

}

The modifiers of fool and foo2 are the same.
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public interface Foo {
public void bar() throws Exception;

}

public class FooImpl implements Foo {
public void bar() {
System.out.println("No exception is thrown");

}

public static void main(String args[]) {
Foo foo = new FooImpl();

foo.bar();
} ?0n7 ,X7 DX ?%79npnn TIipn DRN

?0n7 W' DX 70X NIN'AY W' ORN L|D DX
?0%79n nn ,MNX

NN7'oNIp NNAY
"Unhandled exception type Exception”
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public interface Foo {
public void bar() throws Exception;

}

public class FooImpl implements Foo {
public void bar() {
System.out.println("No exception is thrown");

}

public static void main(String args[]) {
FooImpl foo = new FooImpl();

foo.bar();
} ?0n7 ,X7 DX ?%79npnn TIipn DRN

?0n7 W' DX 70X NIN'AY W' ORN L|D DX
?0%79n nn ,MNX

079
"No exception is thrown"
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Consider the following class hierarchy:

Interface Animal {..}

class Dog implements Animal{..}
class Poodle extends Dog {..}
class Labrador extends Dog {..}

Dog

Poodle Labrador

Which of the following lines (if any) will not compile?

Poodle poodle = new Poodle();
Animal animal = (Animal) poodle;
Dog dog = new Labrador();

poodle = (Poodle) dog;
-No compilation error
-Runtime Exception

animal = dog; - Compilation Error
Type mismatch: cannot convert

poodle = dog;

Labrador labrador = (Labrador) dog;
-No compilation error
-No Runtime Exception
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class A {

public void print() {
System.out.println("A");

¥
¥

?NN2Y W OXND

class B extends A implements C {

¥

interface C {
void print();

BN

N'Y719NI7 NINAY |'N

77NN N1 public
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class A {
void print() {
System.out.println("A");
}

} ?NN2Y W OXND

class B extends A implements C {

} \
interface C { :N'X7'oN17 NN'AY

. ) The inherited package
void print(); method A.print()

} cannot hide the public
abstract method in C

7
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public class A {
public void print() {

}

}

System.out.println("A");

public class B extends A {
public void print() {

¥

}

System.out.println("B");

0790

public class C {
public static void main(String[]

args){
B b = new B();
A a = b;
o.print); AT
a.print();
}
}

?0n7 ,X7 oX ?%79npnn Tipn DRN
7017 ,w' DX 70X NR'AY U OXDL|D DX
?0790 Nn ,NNKX
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public class A { public class C {
public void print() { public static void main(String[]
System.out.println("A"); args) {
} B b = new B();
} b.print();

public class B extends A { }

protected void print() { }
System.out.pyintln("B");

}

—_—}

NN7'oNIp NNAY
"Cannot reduce the
visibility of the
inherited method from A"

?0n7 ,X7 DX ?79npnn TIzn DRD
?0n7 ,w' DX 70X NIN'AY W' OXNL|D DX
?079n nn ,NNKX
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public class A {
protected void print() {

¥

}

System.out.println("A");

public class B extends A {
public void print() {

¥

}

System.out.println("B");

public class C {
public static void main(String[]

}

args) {
B b = new B();
b.print();

}

0790

?0n7 ,X7 DX ?79npnn TIpn DRN
707 ,w' DX 70X NR'AY W' OXRDL[D DX
?0%79n nn ,NNKX

10
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public class A { public class B extends A {
public void foo() { public void foo() {
System.out.println("A.foo()");

\ System.out.println("B.foo()");
}

public void bar() { . . . . .
System.out.println("A.bar()");| Public static void main(String[]

foo(); args) {
) A a = new B();
} a.bar();
}
}

10790 ?nnY% ,X7 OX ?79n7Nn TIipn DR
A-zar‘() ?nnY7 ,W' DX 20¥" NINAY W' DRD [ DX
B.foo() 209790 NN ,NINK | 11
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public class A { public class B extends A {
private void foo() { public void foo() {
System.out.println("A.foo()");

\ System.out.println("B.foo()");
}

public void bar() { . . . . .
System.out.println("A.bar()");| Public static void main(String[]

foo(); args) {
} A a = new B();
} a.bar();
}
}

079N ?0n7 ,X7 OX ?%79npnn TIipn ORN
A.bar() 7017 ,w' DR 7N¥" NXAY W' OXRD LD DX
A.foo() 20790 NN ,NNXR | 4,
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Pugiizngls:: 5 £A -~ public class C {
. > public static void main(String]]

A() { foo(); 1} args) {

public void foo() { A a = ENREOk

System.out.println("A.foo(): bar = " + System.out.println("a.bar = "
bar) ; + a.bar);
} } a.foo();
}
public class B extends A { }
String bar = "B.bar";
B() { foo(); } ,
0790
public veid foo() { ) B.foo(): bar = null
Syst‘)caerr‘n)..out.pr‘lntln( B.foo(): bar = " + B.'FOO(): bar = B.bar
} a.bar = A.bar
h B.foo(): bar = B.bar

13
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public class A {

protected B b = new B(); .
public A() { System.out.println("in A: no args."); } ‘ . 'UI?Dn
public A(String s) { System.out.println("in A: s = " + s); } in B: no ar‘gS.
} in A: no args.
public class B { in C: no args.
public B() { System.out.println("in B: no args."); } in B: no args.
} .
1n A: no args.
public class C extends A { in C: no args.
protected B b;

public C() { System.out.println("in C: no args."); }
public C(String s) { System.out.println("in C: s = " + s); }
}

public class D {
public static void main(String args[]) {
Cc =new C();
A a = new C();

}

}
14
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public class A {

protected B b = new B();

public A() { System.out.println("in A: no args."); }

public A(String s) { System.out.println("in A: s = " + s); }
}

public class B {
public B() { System.out.println("in B: no args."); }

}

public class C extends A {

protected B b;

public C() { System.out.println("in C: no args."); }

public C(String s) { System.out.println("in C: s = " + s); }
}

public class D {
public static void main(String args[]) {
Cc=new C("c");
A a = new C(“a");
}
}

in
in
in
in
in

079N
no args.
no args.
S = C

15
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public class A {
public float foo(float a, float b) throws IOException {

}
}

public class B extends A {

}

?B -2 'mant [N o'Ran 0NN 17K

. float foo(float a, float b){..}

. public int foo(int a, int b) throws Exception{..}

. public float foo(float a, float b) throws Exception{..}
. public float foo(float p, float q) {..}

A wnNnBR

16
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public class A {

public void foo() {..}

7w f00-7 XNjP7 "WON DRN
?Bynn A

public class B extends A {
public void foo() {..}

:NIYN
super.foo() NT

17
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public class A {

public void foo() {..} 9w f00-7 XNj'7 "WOX DXN

} ?Cymn A
public class B extends A { -nalun
WON 'N

public void foo() {..} super.super.foo()
} "IN N7 -

public class C extends B {
public void foo() {..}

}
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public class Test {
public int a = ©;
private int b = 1;

NIYNN 0'Y'Al a-e -n DINYN 1'7'X
?Ninionn

public void foo(final int c) {

int d = 2;
d= d+c;

class InnerTest {

d-n yin D7D :na1wn

private void bar(int e) {

19
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